Micro Servo

\

Pen Lift Cam

=

Pen Carriage Assembly

— =/
—
G

—
\)

A%
o @

7%
\\J

2
P

p ‘\%\

<

@ /Pen (any type)

midTbot Pen Carriage

Socket Head Screw M5 x 10

3mm Linear Rod 40mm Lg. Qty 2
Press in from bottom

3mm Linear Bearing LM3UU
Qty 4




M3 Flatwasher Qty 2
Mounted under pulley

Idler Pulley 3mm Bore Qty 2
P/N BIQU-H308

Left Foot

Right Foot

Button Head Screw M3 x25 Qty 2

M3 Hex Nut Qty 2

6mm Linear Shaft 200mm Long Qty 2

Gantry Assembly

Rubber Foot Qty 4
Under Printed Foot




Button Head Screw M3 x 18 Qty 2

3mm Flatwasher Qty 2
Mounts between pulley and block

Idler Pulley 3mm Bore Qty 2
P/N BIQU-H308

M3 Nylon Locking Hex Nut Qty 2

Tail block

6mm Linear Shaft 200mm Ig

Y Axis Assembly

Head block




NEMA 14 Stepper Motor 20mm Long Qty 2

PCB Assembly

Button Head Screw M3 x 8 Qty 6
Mount through block and PCB into motor

GT2 Pulley 16Tooth 5mm Bore Qty 2

Idler Pulley 3mm Bore Qty 2
P/N BIQU-H308

Button Head Screw M3 x 25 Qty 2

M3 Nylon Locking Hex Nut Qty 2

M3 Flatwasher Qty 2
Mounted between pulley and block

6mm Linear Bearing (LM6LUU) Qty 4
Press into block flush to any edge

Carriage Block

Main Carriage Assembly




Snap Bearings into block

Gantry Assembly

Y Axis Assembly

Pen Carriage Assembly
Snap bearings into headblock (see detail)

Final Assembly




	Sheet 1
	Views
	new_view_1


	Sheet 2
	Views
	new_view_6


	Sheet 3
	Views
	new_view_8


	Sheet 4
	Views
	new_view_10
	new_view_13


	Sheet 5
	Views
	new_view_4
	new_view_11
	new_view_12



